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"I understand they all have the same value,
but I have to tell you, the ones on the right
feel like more bang for your buck.”
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Intro to Rational Expressions - Fractions and Exponents Review - Worksheet
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1) Add or subtract the following fractions.
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4) Simplify (exponents)
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5) Simplify fractions and exponents
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6) Simplify. Your answer should contain only positive exponents.
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: {3.3 Rational Exponents - Worksheet

1) Evaluate each cube root.
a) 64 b) (~1000)3 SN a (L)
- < -0 _( ° 3%—
X
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5) Simplify. Express your answers using only positive exponents.
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6) Simplify. Express your answers using only positive exponents.
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7) The surface area, S, of a sphere can be expressed in terms of its volume, V, using the formula
1 2
S(V) = (4m)3(3V)3. A beach ball has a volume of 24 000 ¢cm3. Find its surface area, to the nearest hundred

square centimeters.
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2.1/2.2 Multiplying and Dividing Rational Expressions - Worksheet
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1) State the restrictions for each function.
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2) Simplify each expression and state all restrictions on x.
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3) Simplify and state the restrictions on the variables.
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5) Simplify and state the restrictions on the variable.
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6) Simplify and state the restrictions on the variable
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7) Simplify and state the restrictions on the variable
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2.1/2.2 Adding and Subtracting Rational Expressions - Worksheet
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1) Simplify and state any restrictions
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3) Simplify and state the restrictions.
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4) Binomial expressions can differ by a factor of -1. Factor -1 from one of the denominators to identify the
common denominator. Then, simplify each expression and state the restrictions.
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‘ Chapter 2a - Rational Expressions - REVIEW
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Section 1: Negative and Rational Exponents

1) Evaluate. Express as a fraction in lowest terms.
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2) Simplify. Express your answers using only positive exponents.
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3) Simplify. Express your answers using only positive exponents.
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4) Evaluate.
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5) Simplify. Express answers using only positive exponents.
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6) Simplify each expression and state all restrictions on x
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8) Simplify each expression and state restrictions.
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9) Simplify each expression and state any restrictions
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